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If f(x)=tan™ x+tan™ L
x

[6)] Show that f'(x)=0
(i)  State the domain of f(x)=tan™ x+ tan™ L
X

(iii)  Sketch f(x) in its domain
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A balloon rises vertically from level ground. Two projectiles are fired horizontally in 3
the same direction from the balloon at a velocity of 80ms™.

The first is fired at a point 100 m from the ground and the second when it has risen a
further 100 m from the ground.

How far apart will the projectiles hit the ground (give your answer to the nearest metre)?
(Use g =10ms™)
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The polynomial P(x)=x*—2x+7 is divided by x—5. What is the remainder?

- . X -
Differentiate y = tan ‘(5] with respect to x.

3

E]
Evaluate | ——dx

o \o—4x

If x=8cos6,y = 5sind find P when 6= 7 .
: dx 4
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(ii)

Graph y =1+
x—

and asymptotes

Hence solve

3 . . .
2 showing all important features such as intercepts

>-1
2
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Find J sin” 4x dx
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Solve sinx+cosx =1. using “t” method. in the domain 0<x<7.

2
. L . sec’ x
By using the substitution # = tan x . or otherwise. find J dx.

Vl+2tanx




image5.png
Find, as an integer, the coefficient of x* in the expansion of (2x—3)g . 2

The polynomial x* —15x” +71x—105=0 had roots a. S,y which form an arithmetic 3
sequence with a common difference of 2. Find the value of the three roots.
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Show that the equations of the tangent and normal to the parabola x* = 4ay , 2
at the point P(2ap.ap”) are:

Tangent: y = px—ap®

Nommal:  3p=—x+2ap+ap’

Tand G are the points where the tangent and normal meet the axis of 2
the parabola. Find the coordinates of these points.

If S is the focus of the parabola. explain why P. T and G all lie on the 2
circle with centre S.




